

$8,88 : 2 =$

$8,48 : 4 =$

$8,488 : 4 =$

$24,48 : 2 =$

$28,46 : 2 =$

$4,842 : 2 =$

$2 \overline{) 8,88}$	$4 \overline{) 8,48}$
$4 \overline{) 8,488}$	$2 \overline{) 24,48}$
$2 \overline{) 28,46}$	$2 \overline{) 4,842}$



$$8,88 : 2 = 4,44$$

$$8,488 : 4 = 2,122$$

$$28,46 : 2 = 14,23$$

$$8,48 : 4 = 2,12$$

$$24,48 : 2 = 12,24$$

$$4,842 : 2 = 2,421$$

$  \begin{array}{r}  2 \overline{) 8,88} \\  \underline{0} \phantom{0} \\  8 \phantom{0} \\  \underline{0} \phantom{0} \\  8 \phantom{0} \\  \underline{0} \\  0  \end{array}  $	$  \begin{array}{r}  4 \overline{) 8,48} \\  \underline{0} \phantom{0} \\  4 \phantom{0} \\  \underline{0} \phantom{0} \\  4 \phantom{0} \\  \underline{0} \\  0  \end{array}  $
$  \begin{array}{r}  4 \overline{) 8,488} \\  \underline{0} \phantom{0} \\  4 \phantom{0} \\  \underline{0} \phantom{0} \\  4 \phantom{0} \\  \underline{0} \\  8 \\  \underline{8} \\  0  \end{array}  $	$  \begin{array}{r}  2 \overline{) 24,48} \\  \underline{0} \phantom{0} \\  4 \phantom{0} \\  \underline{0} \phantom{0} \\  4 \phantom{0} \\  \underline{0} \\  4 \\  \underline{4} \\  0  \end{array}  $
$  \begin{array}{r}  2 \overline{) 28,46} \\  \underline{0} \phantom{0} \\  8 \phantom{0} \\  \underline{0} \phantom{0} \\  4 \phantom{0} \\  \underline{0} \\  6 \\  \underline{6} \\  0  \end{array}  $	$  \begin{array}{r}  2 \overline{) 4,842} \\  \underline{0} \phantom{0} \\  8 \phantom{0} \\  \underline{0} \phantom{0} \\  4 \phantom{0} \\  \underline{0} \\  2 \\  \underline{2} \\  0  \end{array}  $

